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	Across
2. The main component in aggregate demand are Investment and?
7. This tax burden can be transferred to other parties
8. Factor that influence imports
9. Three sector economy is also known as
10. What is formula of consumption function?
	Down
1. The total income received by household in an economy that is available to purchase goods and services or for savings
3. A firm's expenditure on capital goods that will be used in the production of goods and services
4. Investment that depends on the national income
5. Four sector economy is also known as
6. Investment that fixed and independent of income


